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No. 1 5 (EGFHD) No.2 35 (RiHE) /HEK

BAEA No1HEF (EHEHD) JREEAEN Bk G friies
FRAT 1 1 ol 530l F4la] F1ml Al H#2Mml HE3[E] 54l
PN 23 2 Cra i 20 20 20 AL Eh
&l (°C) 18.0 25. 8 18.8 -3.2 24.3 18.2 24.3 12.5 -2.3
AR (C) 9.9 11.2 10.7 10. 2 10.7 17.3 20. 8 6.3 3.6
FERE (em) 30= 8.0 27 30= 30= 30= 10 23 30=
48l £, I BB EE 2 el B EE B A fEfn
B E5 HER HER pii HER TRIRE HIRR R 3!
B RIU L (mg/L) — <0.0003 - — <0.0003 <0.0003 - <0.0003 — <0.003 <0.03
So 7 (mg/L) - <0.1 - - <0.1 <0.1 - <0.1 ~ *ﬁ“ujiih s <1
AR (mg/L) — — - — — <0.1 - <0.1 — — <1
£ (mg/L) — 0. 006 - — 0. 004 <0.001 - <0.001 — <0.01 <0.1
A2 7 2 (mg/L) — <0. 0005 - — <0. 005 <0.005 - <0.005 — <0.05 <0.5
fit#% (mg/L) — <0.001 - — 0. 002 <0.001 - 0. 002 — <0.01 <0.1
FAKER (mg/L) — <0. 0005 - — <0. 0005 <0.0005 - <0.0005 — =0. 0005 <0.005
7 A% LK (mg/L) - TR - - TR, THR - T - PSR RIS
PCB (ng/L) — TR - - TR, T - h - PIREDANT <0 09
Yrua AL (ng/L) — <0.002 - — <0.002 <0.002 - <0.002 — <0.02 <0.2
Db (mg/L) — <0. 0002 - — <0. 0002 <0. 0002 - <0. 0002 — =<0.002 <0.02
L2-Y7aux4 (mg/L) — <0. 0004 - — <0. 0004 <0. 0004 - <0. 0004 — =<0.004 =<0.04
L1-¥7auzF Ly (ng/L) — <0.002 - — <0.002 <0.002 - <0.002 — 0.1 <1
L2-Y7ruxzF L (ng/l) — <0.008 - — <0.008 — - - — <0.04 —
YA-L2-VZmuxF L (ng/L) — <0.004 - — <0. 004 <0. 004 - <0. 004 — — =0.4
FSrA-, Y rarzF Ly (ng/L) - <0.004 - — <0.004 <0.004 - <0.004 — - —
LLI-hY 7w (mg/L) — <0. 0005 - — <0. 0005 <0. 0005 - <0. 0005 - =1 =3
L1,2-+ Y 2zmux®y (ng/L) - <0. 0006 - — <0. 0006 <0. 0006 - <0. 0006 — =0. 006 <0.06
MV ZvuxzFLr (mg/L) — <0.001 - — <0.001 <0.001 - <0.001 - =0.01 =0.1
FhrF7r7rRZF L (ng/L) — <0. 0005 - — <0. 0005 <0. 0005 - <0. 0005 - =0.01 =0.1
L3-Y7rura~r (ng/l) - <0. 0002 - — <0. 0002 <0. 0002 - <0. 0002 — =0.002 <0.02
F 75 (mg/L) — <0. 0006 - - <0. 0006 <0. 0006 - <0. 0006 - =0. 006 =0.06
=YY (mg/L) - <0.0003 - - <0.0003 <0.0003 - <0.0003 — =0.003 <0.03




F AT T (mg/L) — <0. 002 - — <0.002 <0. 002 - <0. 002 — =0.02 =0.2
NPy (mg/L) - <0.001 - — <0.001 <0.001 - <0.001 - =0.01 0.1
L (mg/L) — <0. 001 - — <0.001 <0.001 - <0.001 — =0.01 =0.1
L4-UAFY 2 (mg/L) — <0. 005 - — <0. 005 <0. 005 - <0. 005 — =0.05 =0.5
saarTF L (mg/L) — <0. 0002 - — <0. 0002 — - - — =0. 002 —
7 v (ng/L) - <0.1 - — <0.1 <0.1 - <0.1 — <0.8 <15
RUH# (mg/L) — 0. 02 - — <0.02 0.03 - 0. 02 — <1 <50
fHEEPEEE R K OV AR TEZE S (mg/L) 0.55 0.63 0. 46 0.75 4.3 — - - — <10 —
- WAL ESR (mg/L) <0.001 <0.001 <0.001 <0.001 <0.001 — - - — — —
- fERPEZE S (mg/L) 0.55 0.63 0. 46 0.75 4.3 — - - — — -
- TS 7%;—* (mg/L> — — — — — <0.05 — 0.16 — — —
- dAHEEEE SR (mg/L) — — - — — 0. 001 — <0.001 — — —
- fHERMEZE S (mg/L) — — — — — <0.01 — <0.01 — — —
W~ IR U AR (ng/L) — 2.2 — — 3.4 — — — — — -
iR A A IRE (mg/L) — 16.8 — — 311 — - - - - -
EUSEE (nS/m) — 19.1 — — 25. 8 — — — — — -
KA AU RE (25C) — — — — — 7.5 7.0 7.1 6.9 — 5.8~8.6
BOD (mg/L) — — — — — 9.9 2.3 0.5 1.1 — <60
COD (mg/L) — — — — — 15 17 6.3 3.8 — =90
SS (mg/L) — — — — — 21 33 10 2 — =60
n(;;%#/ﬂﬂm [ i - — — - — <0.5 — <0.5 - ~ <5
i uﬁﬁ% @i/m - _ _ — — =00 — =00 — _ =%
7= /= (mg/L) — — — — — <0.01 — <0.01 — — <5
#i (mg/L) — — — — — <0.005 — <0.005 — — =3
Mg (mg/L) — — — — — <0.005 — <0.005 — — =2
VfEtEEk (mg/L) — - - — — 1.4 — 2.0 — — <10
Vit~ A7 (mg/L) — — - — — 0.2 — 0.18 — — <10
7w (mg/L) — — — — — <0. 005 — <0. 005 - — =2
RIGERSL (f8/ml) — — — - - 390 - 10 - — D;g?i?
BEHE (ng/L) — — — ~ - 0.93 1.4 0.58 0.34 - (HFF%Z%GO)
24 (mg/L) - - - - — 0. 50 — 0.26 ~ — ()
- 0. 062 - - 0.00014 0. 00011 - - — - <10
HA A% M (pg-TEQ/L)
- fo. 18] - - [0. 067] - — — =1 —




ST 2 EE

FT=X Y THFO/ =LY T HTFQ

KRB GBH T AREREE

FHREO %S TV THFO|E=F Y L IHFO HLAL
TR [ NG| |
KA & &
IR 27.3 28.0 C
KEUE 101. 2 101. 2 kPa
7 AGRFLREE 2.0 2.0 m
7 AN E GREE -1.0 -1.0 [G.L.]m
AB 1.1 2.1 %
3 8. 4 14.4 %
fit bk & <0.5 <0.5 ppm
| [Z£3 12.0 3.0 %
EH 74.3 76. 1 %
TUE=T <0.5 <0.5 ppm
VBT A & <0.1 <0.1 ml/min




